Sruba M12x45-8.8 : Bolt
Podkt. sprez. 12,2 Spring Washer
Podkf. okr. 13 ; Plain Washer

Nakretka M12 ; Nut
Podki. sprez.12,2, Spring Washer
Podk. okr. 13, Plain Washer

Sruba M12x1.25x40-8.8 ; Bolt
Podkt. sprez.12,2 | Spring Washer
Podkt. okr. pow. @ 13 : Plain Washer

Nakretka M8 ; Nut
Podkt. sprez.8,2, Spring Washer
Podki. okr. pow. 8,4 ; Plain Washer

C Pt 1 Pkt 1

Sruba M12x1.25x40-8.8 ; Bolt
Podkt. sprez.12,2; Spring Washer
Podkf. okr. pow. @ 13 ; Plain Washer

. 4 f A Sruba M12x70-8.8; Bolt
7
Q'" .
dd Nakretka M8 Nut :
Podkt. sprez.8,2  Spring Washer

; Podkf. okr. pow. 8.4 ; Plain Washer

Sruba M12x35-8.8 ; Bolt i
Sruba M12x45-8.8, Bolt Sruba M12x1.25x40-8.8 ; Bolt 'y
Podki. sprez.12,2 ; Spring Washer, \ Podki. sprez.12,2 ; Spring Washer ~ :
Podki. okr. 13 ; Plain Washer Podki. okr. pow. @ 13 : Plain Washer Nrkatalogowy ~— Marka

s 96-111 Kowiesy, Chojnata 23 A
1/040 Toyola Sienna Il od 03 - > tel. +48 46 831 73y3|


http://magfarkop.ru

